il

g
=
s
i

1. ¥¥4
B4 A6 AEE U PR EMERE (20 1) E5
JBA T REAS IR, 2SS0 AR T

2. EBEAR

ReATT) N [EEFHAT T8 =3

1) FEF4
2) BT 269 H H 4&fn 74 34 5H
= S THE11H28H

3) wHwyI
ARYBS L, SRR , AR ORI B IR A 1T 5 FS

ThDd

4) FEHBNA
B, BoRRERO L BY

E+sZi@E SN



BN

Tl
P

==
=]

EHAL | BRE6EE JUNTREMEFE (Z01) ¥ ¥ HYE A
HH — A
THH - THE - FER BT B & 4 H AR ER
— AR = 1 8, 446, 239
B AT 2V 1 5, 887, 752
AR —1 > 7 52V 1 3,380,600 | HER—V 7 (J)vaFR—Ur
7) 6 m
KEPEL « L b, BOmEL T, $AEL T, &
116mm
TEAR—V T (A —naTrR—U
) 32 m
REMEL - L R, BOmBL T, $AE T, ¢
66mm
+ER—V 7 (A —var7R—V
) 8 m
- WHE L, 50mEA T, $R1E. T 75, ¢ 66mm
+ER—V 7 (A —ar7R—V
) 20 m
LR U 0 2HD, 50mEL T, $RTEL 77, o 66
mm
AR — ) T (A= a T AR—
) 57 m
#CE, 50mLL T, $R1E. T 7, ¢ 66mm
NN/ = 1 244,800 | m—& Y —X=EHEY 7T —
6 EN
BT o VR B R 7 1 1,611,260 | FRAEE AR
32 B
i e R N
FEHEE AGRBR
8 [A]
W WE L
FEHEE AGRBR
20 &
-1- EEAZmE  Fu T R




==
=]

m
2
%

EHAL | BRE6EE JUNTREMEFE (Z01) ¥ ¥ HYE A
HH — A
THHE - THE - R BT B & 4 H OB AR
BHRE LY+
FEAE BN R
57 B
[iCs]
HNABR E 1 267,540 | i OB ERER
6 Uk
ERAEVINEA
6 Uk
F ki AR
6 Uk
TR AR
6 ok
T VEPETR B
6 ok
d o> AR
6 ok
KA AT X 1 241,552 | fEATEFA
1 X
BT R 2 1 126,000 | BE-HRARIERCE
1 =
I e = 1 16,000 | ety
8 EN
AR = 1 2, 558, 487
TR = 1 689, 050 | EMEE
1 =
Hef = 1 541,680 | HEfE K OB 41T
1 =
A FLEAZE
1 =
FakE (R 7 i)
1 =

-2 - E+sZi@E SN



ull
P

==
=]

EHA | BR6EE JUNTILEMEREE (F0 1) ¥(5 E B FRA
HH —FRA
THH - T - R A7 £ & KA OB ORR
e = 1,161,000 | SRR
1 =
TR =X 125,655 | fc%r (REtE - @A)
1 =X
i T R =Y 41,102 | FE C&HE
1 =X
EAETA -+ A =X 8, 446, 239
et =X 5,723, 761
HatS = 5,723, 761
— A = 14, 170, 000
AT A E2V 1, 358, 654
EHEEGE = 1, 358, 654
Sl TR A 2y 1,358, 654 | EHEIUE(K
1 5
AT A
1 =
BiStii} = 289, 800
Bisii] = 289, 800
Tavs = 289,800 | ¥T&t
1 =
EREEM (ZOMEmER<) = 1, 648, 454
Z O FA = 887, 692
-3 - E+2mE SN )R




FEH N

%lljll
I

¥4 | BR6EE JUNPIuEHERE (20 1) ¥5% E A
H H — B
THH - T - fER] A7 ¥ = & % OB ORR
— R R = 1 1, 363, 854
M SR A s 2y 1 3, 900, 000
RS SE MR 2y 1 18, 070, 000
— 4 —

E+sZi@E SN



